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Section 6.7 - Investigating Graphs 6f Polynomial Functions
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Find the requested information for each polynomial graph. All polynemials are in standard form.
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IL. Sketch a graph of the function WITHOUT using the graphing calculator. Include real zeros on the
graph and the end behavior.
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IV.  Identify whether the following graphed functions have an odd or even degree and also whether
they have a positive negative leading coefficient. Also, for the real roots, identify whether positive
or negative and their multiplicity.
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ITI.  Write a possible equation for a polynomial with the following sketch. Leave your equation in
factored form.
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